http://www.howtoexam.com

9. 2 svsbWLNGESEENeT seuvTHemy ellenereasemners

@ iflail.

10. 2. evBLWLTESSI6T HTHAWE &(HSSH &SSO

wremnel ?

LS - o (3 x 20 = 60)

6Tem6UGWEn|D petT M aflaTm&ESEHEE allenLweflssab.
eneT 5G| NloTTESEHEGHD &Fo WWHIGILIGTSHET.

11. 2 6USBLOWLOMEGHSHEV6T  LIToTL|Hem6T a6 &(&)s.

12. @AWl QUTHeTISTTSH6, 2 6V&SULDTES6S166T
aflemeare|semer  afeurs.

13. 2 emplI&O&T6Temns HMID, 2 6V&BLOWLTSHEV LI
TS,

14. eueTribs LLMHMID, eueT(HWL HBMT(H&EEHEHenL G
BeoL QUMD (s QL LGILIWTHAullsmrsr eflerr g s.

15. 2 eu&LWWDTS6V6Y QU (HeTT&STY Lo Hmb,
QUTBETTSITD &MIng SMTIeollseT @) 6m6vorLiLy
(pemnmaEsmar  alleurfl.

University, placement, school and entrance exam question paper-How To Exam?

Register Number :
Name of the Candidate :
7403
B.A. DEGREE EXAMINATION, 2007
(BUSINESS ECONOMICS)
(FIRST YEAR)
(PART - 1)
(PAPER - 1)
111. GLOBALISATION AND DEVELOPMENT
May | [ Time : 3 Hours

Maximum : 100 Marks

SECTION-A (8 x 5 = 40)

Answer any EIGHT questions.

All questions carry equal marks.
1. State Robertson’s phases of globalisation.

2. Discuss how globalisation is a process of

modernisation.

3. What is diffusion of technology ?
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Describe the diffusion of information under

globalisation.
Write a note on emerging global labour market.

Examine the changing role of Government

under globalisation.

Bring out the determinants of FDI.

What is free capital movement ?

State the cultural effects of globalisation.

What are the political aspects of globalisation.
SECTION-B (3 x20=60)

Answer any THREE questions.

All questions carry equal marks.
Explain the characteristics of globalisation.

Discuss the effects of globalisation on Indian

economy.
Analyse the labour policy and globalisation.

Explain the capital movement from developed

to developing countries.
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15. Describe the methods of integrating economics

and non - economic aspects of globalisation.
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